
(a) Kerala, Goa, West Bengal 
(6) Chandigarh, Goa, Kerala 
(C) Kerala, Lakshadweep, Mizoram 

(d) Daman and Diu 

16. As per 2011 Census data, the chi. 

sex ratio has come down from
1. As per 2011 Census (provisional data), which 

statements is incorrect?
of the following

(a)The overall illiteracy rate has 9. As per 2011 census, in India the
(d) Mizoram, Kerala, Tipura to 

(a) 904 (b) 920 () 917 (d) 914
gone up.

(b) Kerala has the highest literacy 
number of females per thousand; 17, Which state amongst the followino 

males is: 
(a) 940 
(c) 933 

has the highest percentage of the
Scheduled Caste population of states 

population? 
(a) Jharkhand 

(c) Punjab 
18. In which one of the following places 

is the Shompen tribe found? 
(a) Nilgiri Hills 

(b) Nicobar Islands 

(c) Spiti Valley 
(d) Lakshadweep Islands 

rate. 
(b) 934 

(d) 972 
(C) Bihar has the lowest literacy rate. 
(d) Women

amongst the literates. 
2. Which is the biggest state in term of 

population: 
(a) Bihar
() Maharashtra (d) A. P 

3. The death rate during 1901-11 
was...per thousand: 
(a) 42.6 
(c) 41.6 

4. 

Cb) MP 

(d) UP 
out number men 10. Which state of India top in literacy? 

(b) Tamil Nadu 

(d) Mumbai

11. The state with largest gap in male 

(a) Kerala
(c) Delhi 

(b) Uttar Pradesh and female literacy
(a) Rajasthan (b) Kerala
(c) Uttar Pradesh 
(d) Madhya Pradesh 

(b) 35.4 
(d) 43.4 

12. Which one of the following 19. The literacy rate during census 
statements is not correct about 
India's population as per the 2011 
census?

2001-11 has been recorded at: 
(b) 74.04% 

Which state of India shows the (a) 66% lowest population as per Census
2011? (c) 77.13% (d) 78.24%

(a) Literacy rate has gone up to 74% 20. What is the percentage of literacy in 
(a) Manipur 
(c) Puducherry (d) Sikkim

5. 

(b) Tripura from 65% Arunachal Pradesh?
(a) 19.9 percent (b) 20.9 percent 

15.5 percent (d) 18.9 percent 

(b) Kerala has the highest literacy 
The first census for the whole of 
Indiawas taken in 
(a) 1872 
(c) 180 
The largest number of working 
population in India are engaged in: 
(a) Agriculture
c) Mining

7. 

rate. 

(c) Bihar has the lowest literacy rate.21. What is the minimum age of a person(d) None of these
13. Which of the following registers the 

highest density in the country as per 
Census 2011?
(a) Delhi 
(b) Chandigarh
(c) Puducherry
(d) West Bengal 

14. The year... is called a Great Divide
in the demographic history of India: 
(a) 1901 
(c) 1941 

15. Which Union Territory is at the 
bottom of child-sex ratio?

(b) 1881 
(d) 1901 whose photographing fingerprinting 

and iris mapping will be done for the 
census of 2011?
(a) 12 years
(c) 18 years 

22. As per the provisional result of the 
2011, 
population in India is: 
(a) 325 (b) 352 (c) 272 (d) 382 

6. 

(b) Pasture 
(d) Industry 

b) 15 years
(d) 21 years

Who advocated the adoption of 
PURA model to eradicate rural census, the density of 
poverty?
(a) Dr A. P J. Abdul Kalam 
(b) Sri Abhijit Sen 
(c) Maulana Abdul Kalam Azad 
(d) Prof. A. M.Patha

(b) 1921 
(d) 1951 

8. As per the results of the 2011 
Population Census, which of the 
following groups occupies the three 
top places in respect of literacy? 

(a) Dadra and Nagar Haveli 
(b) Chandigarh 
(c) Andaman and Nicobar Islands 

D ANSWERS 

1. (d) 
11. (a) 

21. (b) 

2. (b) 

12. (d) 

22. (d) 

3. (a) 
13. (a) 

4. (d) 

14. (b) 
5. (a) 

15. (b) 
6. (a) 

16. (d) 
7. (a) 

17. (a) 
8. (d) 

18. (b) 
9. (a) 

19. (b) 
10. (a) 
20. (b) 
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